MIXED MOLE PROBLEMS Al Keﬂ
Solve the following problems.

1. How many grams are there in 1.5 x 10% molecules of CO,?
25
1.5 %10 molecwles CD;_] | mo! CO, )44_0 g 0, = 1096.3

]b.OZXIozz’molem\cs l | mol €D, 1100 g COs
C()z. J
2. What volume would the CO, in Problem 1 occupy at STP?
! EXTTEE
t | mol (0, S0 L CO0

3. Asample of NH, gas occupies 75.0 liters at STP. How many molecules is this?

2
1s.0 L NHg,l | mol NHz l(oOZXIO moleuﬂes NHs ~ 2.015% (0"

| 24
{ 724 L NH, l | mol NH; 2.02x10 MO‘CLUL‘GSA N Hs
4. What Is the mass of the sample of NH, in Problem 37
" | 17.0 g NH; = Sb.Al
, | mol NH; 56.9 a NHj

5. How many atoms are there in 1.3 x 102 molecules of NO,? | molecule = 3 atoms
2
1.3%[0" molecwles NOo| 3 atoms N, =

| | mo lecule N0, 3.0]xlona+oms NO-

6. A 5.0 gsample of O, is in a container at STP. What volume Is the container?

5090, | mol 0 [ 224 L 0a ;
I37..03 0, l | mol 0, 3.5L0,

7. How many molecules of O, are in the container in Problem 6? How many atoms
?
TSV | 6. 02% 10" molecules 0,
Il — l )
! | mol 0, 9.4 x 10" molecules |0,

" 2 otoms 0, 1.ax10% adoms 0,
[ molgque (z
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